

$$= y - (-\frac{1}{2}) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$y + \frac{1}{2} = \frac{3}{2}x + \frac{3}{2}$$

$$2y + 1 = 3x + 3$$

$$2y - 3x + 1 - 3 = 0$$

$$2y - 3x - 2 = 0 //$$

$$\text{Eqn of normal: } y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - (-\frac{1}{2}) = \frac{-1}{\frac{3}{2}}(x - (-1))$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$y + \frac{1}{2} = -\frac{2}{3}x - \frac{2}{3}$$

take lcm and multiply through by lcm i.e. 6

$$6y + 3 = -4x - 4$$

$$6y + 4x + 3 + 4 = 0$$

$$6y + 4x + 7 = 0 //$$

(4)  $y = 1 + x - x^2$  at the point  $(-2, -5)$ .

$$\frac{dy}{dx} = 1 - 2x$$

$$x_1 = -2, y_1 = -5, y = 1 + x - x^2$$

$$\frac{dy}{dx} \Big|_{x=-2} = 1 - 2(-2)$$

$$= 1 + 4 = 5$$

$$m = 5$$

$$\text{Eqn of tangent: } y - y_1 = m(x - x_1)$$

$$y - (-5) = 5(x - (-2))$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y - 5x + 5 - 10 = 0$$

$$y - 5x - 5 = 0 //$$

$$\text{Eqn of normal: } y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - (-5) = \frac{-1}{5}(x - (-2))$$

$$y + 5 = \frac{-1}{5}(x + 2)$$

$$y + 5 = \frac{-1}{5}x - \frac{2}{5}$$

-take lcm and multiply by lcm i.e. 5

$$5y + 25 = -x - 2$$

$$= 4y + x - 8 - 1 = 0$$

$$= 4y + x - 9 = 0$$

②  $y = 3x^2 - 2x$  at the point  $(2, 8)$

$x_1 = 2$   $y_1 = 8$   $y = 3x^2 - 2x$

$$\frac{dy}{dx} = 6x - 2$$

$$\frac{dy}{dx} \Big|_{x=2} = 6(2) - 2$$

$$= 12 - 2 = 10$$

$$m = 10$$

Eqn of tangent:  $y - y_1 = m(x - x_1)$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x - 8 + 20 = 0$$

$$y - 10x + 12 = 0$$

Eqn of normal =  $y - y_1 = \frac{1}{m}(x - x_1)$

$$y - 8 = \frac{1}{10}(x - 2)$$

$$y - 8 = \frac{x}{10} + \frac{2}{10}$$

$$10y - 80 = x + 2$$

$$10y - x - 80 + 2 = 0$$

~~$$10y - x - 82 = 0$$~~

$$10y - x - 82 = 0$$

③  $y = x^3/2$  at the point  $(-1, -1/2)$

$x_1 = -1$ ,  $y_1 = -1/2$   $y = x^3/2$

~~$$\frac{dy}{dx} = \frac{3x^2}{2}$$~~

$$\frac{dy}{dx} = \frac{3x^2}{2}$$

$$\frac{dy}{dx} \Big|_{x=-1} = \frac{3(-1)^2}{2} = \frac{3}{2}$$

$$m = \frac{3}{2}$$

Eqn of tangent:  $y - y_1 = m(x - x_1)$

NAME: OLAOSEBIKAN Oluwadamilade Deborah  
 MATRIC NO: 19 MHS011331  
 COLLEGE: MEDICINE AND HEALTH SCIENCE  
 DEPARTMENT: MEDICINE AND SURGERY  
 COURSE CODE: MATH 104

### QUESTION

For the Curves in Problem 1 to 5 at the point given find (a) the equation of the tangent, and (b) the equation of the normal

- ①  $y = 2x^2$  at the point (1, 2)
- ②  $y = 3x^2 - 2x$  at the point (2, 8)
- ③  $y = x^3/2$  at the point  $(-1, -1/2)$
- ④  $y = 1 + x - 2x^2$  at the point  $(-2, -5)$
- ⑤  $y = 1/x$  at the point  $(3, 1/3)$ .

### Solution

①  $y = 2x^2$  at the point (1, 2)

$x = 1, y = 2, y = 2x^2$   
 $\frac{dy}{dx} = 4x$

$\frac{dy}{dx} = 4(x) = 4$

at  $x = 1, m = 4$

Equation of tangent:  $y - y_1 = m(x - x_1)$

$y - 2 = 4(x - 1)$

$y - 2 = 4x - 4$

$y - 4x = -4 + 2 = -2$

$y - 4x + 4 - 2 = 0$

$y - 4x + 2 = 0$

Equation of the normal =  $y - y_1 = \frac{-1}{m}(x - x_1)$

$y - 2 = \frac{-1}{4}(x - 1)$

$y - 2 = \frac{-x}{4} + \frac{1}{4}$

$4y - 8 = -x + 1$



$$5y + x + 25 + 2 = 0$$

$$5y + x + 27 = 0 //$$

⑤  $y = \frac{1}{x}$  at the point  $(3, \frac{1}{3})$

$$x = 3, y = \frac{1}{3}, y = \frac{1}{x}$$

$$\frac{dy}{dx} \cdot y = x^{-1}$$

$$\frac{dy}{dx} = -1(x)^{-1-1}$$

$$= -1(x)^{-2}$$

$$\frac{dy}{dx} = -\frac{1}{x^2}$$

$$\frac{dy}{dx} \Big|_{x=3} = -\frac{1}{(3)^2} = -\frac{1}{9}$$

Eqn of tangent  $y - y_1 = m(x - x_1)$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$9y - 3 = -x + 3$$

$$9y + x - 3 - 3 = 0$$

$$9y + x - 6 = 0 //$$

Eqn of normal  $y - y_1 = \frac{-1}{m}(x - x_1)$

$$y - \frac{1}{3} = \frac{-1}{-\frac{1}{9}}(x - 3)$$

$$y - \frac{1}{3} = \frac{1}{1} + \frac{9}{1}(x - 3)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$y - \frac{1}{3} = 9x - 27$$

$$3y - 1 = 27x - 81$$

$$3y - 27x - 1 + 81 = 0$$

$$3y - 27x + 80 = 0 //$$